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led on(uint8 t a) {
. if(a){
client.led on(1) Yoo = A

print(“ON") }

sleep(2.0)

client.led off(1) led off(uints t a) {
- " : l-l:(a) type = @;

print("OFF")
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rpc_server.run();
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3 + accelerometer
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mqtt_thread.start(callback(&nqtt queue, &EventQueue::dispatch forever));
mqtt queue.call every(1e@ms, &publish message, &client);

publish message(MQTT::Client<MQTTNetwork, Countdown>* client) {
if (type){
MQTT::Message message;
BSP_ACCELERO AccGetXYZ(pDataXyz);
buff[1ee0];
sprintf(buff, "%d #d", pDataxyz[e], pDataxyZ[1], pDataxyZ[2]);
message.qos = MQTT:: g
message.retained = H
message.dup = B
message.payload = ( *) buff;
message.payloadlen = strlen(buff) + 1;
rc = client->publish(topic, message);

printf("%s\n", buff);
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str(msg.payload)
line.rstrip(™'")

for i in range(e, 20):
mgttc.loop()
line.rstrip(“e")
line.rstrip("x")
line.rstrip("\*")

x[1i] = x[num]

y[i] y[ num]
z[i] = z[num]




2000 A

1000 A

Amplitude

Amplitude

—1000 ~— . . T T . T |
0.00 0.25 0.50 0.75 1.00 1.25 1.50 1.75

2000 A

1000 A

Amplitude

0.00 0.25 0.50 0.75 1.00 1.25 1.50 175

Time
= - BEEE
PythonZg - = &SR
—RABERL N A EHEFdatalWER - BRI A N EERENEEHW

list - BRI EEE WA listiE R Barray - MR - SRAELSIRZH#HRIFER -
B ME -

line = str(msg.payload)
numbers = str([int(s) for s in re.findall(r'-?\d+\.2\d*', line)])

array = np.asarray(line)
print(“Message: " + numbers)
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for i in range(@, 20):
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